@ ASLARNNITNUIAA

ifa: Fusi: ATLUL:
X =161 +55x+ 72 =0 X —7¢ —18x=0

CHad-5x=0 ¥ =332 —28x+60=0

X +5¢ +6x=0 8¢ + 89x> + 132x— 189 = 0

X =% —4x+36=0 X+ 2% —59x— 168 = 0

61 + 473 + 57x— 140 = 0 X+ 6x* — 81x— 486 = 0
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@ NSLARUATRAUTAA

fia: Suii: AZLUY:
X —16x° +55x+ 72 =0 X —T7¢ —18x=0
x=-1,9,8 x=-2,9,0
CH+4¢—5¢=0 X =3’ —28x+60=0
x=1,-5,0 x=16,2,-5
CH+5° +6x=0 8x° + 89x2 + 132x— 189 = 0
x=-3,-2,0 x=' 39
8
X =9 —4dx+36=0 X +2x> —59x— 168 = 0
x=2,-2.9 x=-7,8,-3
6x° + 47x% + 57x— 140 = 0 X+ 6x° — 8lx— 486 = 0
7 00
X:—,_4,_5 X 9, 9, 6
6
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